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$Q/4/ ��2' 
/HC�-1$
�7'HN�B$ �$�-4727,P �B7L9

�$9�BH3$4H 7' �739LH$B ��/$4�$
��B3CH�"H �4/M$BC/HP 7' �$�-4727,P! �$B3�4P
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��,.+��.� �LBB$4H �739/2$BC '7B �C9$�H.7B/$4H$" 9B7,B�3C �B$ B�H-$B �7CH2P /4 H$B3C
7' 3$37BP �4" H/3$ �74CL3$" �H �739/2$.H/3$= �-/C /C �$��LC$ 3$3�$B ���$CC$C H-�H
�B$ �"M/C$" �P �C9$�HC! ,$4$B�22P! 7��LB C$M$B�2 H/3$C /4 H-$ 9B7,B�3 �7"$= �-$C$ C/H$C
�B$ /4 �7392$O 3$H-7"C N-7C$ �74HB72 *7NC 3LCH �$ L9"�H$" N-$4 N$�M/4, �"M/�$=
	4 H-/C 9�9$B N$ 9B$C$4H � 4$N N$�M/4, H$�-4/>L$ H-�H /4HB7"L�$C /4"/B$�H/74C /4H7 H-$
9B7,B�3 �7"$ N-/�- 3�1$C N$�M/4, �"M/�$ $�C/$B= �$ N/22 C-7N H-�H H-$ H/3$ �4"
3$37BP �74CL39H/74 �H �739/2$.H/3$ �$4$(HC 'B73 H-/C �99B7��- �4" CH/22 H-$ 27CC 7'
BL4H/3$.9$B'7B3�4�$ /C ���$9H��2$ �C H-$ /4HB7"L�$" /4"/B$�H/74C �B$ 79H/3/Q$" �N�P
�P H-$ $O$�LH/74 $4M/B743$4H=

' �%.+&�1�. &%

�C9$�H.7B/$4H$" 9B7,B�33/4, :���; ���� /C � 9�B�"/,3 '7B 37"L2�B/Q/4, �B7CC�LHH/4,
�74�$B4C= �-$ 37CH 9B73/4$4H 1/4" 7' ��� 2�4,L�,$C ��$B� �B$ �C9$�H
.2/1$ 2�4,L�,$C
��C9��= �-$ 'L4"�3$4H�2 �74�$9HC 7' H-$ �C9$�H
 *�M7B 7' ��� �B$ "(!& *(!&20! *(!&2�520
�4" ��6!��= � 97/4H�LH /C � >L$BP H-�H >L�4H/($C 7M$B 07/4 97/4HC! N-/�- �B$ 97/4HC /4 H-$
�8��52!(& 7' H-$ 9B7,B�3= �-$B$�P � C$H 7' B$2�H$" 07/4 97/4HC /C "$(4$"= �7/4H�LHC �B$
�7397C$" 7' 9B/3/H/M$ >L$B/$C N-/�- �B$ ��22$" *(!&2�52 ��0!�&�2(/0 :���C;= �"M/�$ �B$
9/$�$C 7' 'L4�H/74�2/HP H-�H ��4 �$ �HH��-$" H7 97/4H�LHC! H�1/4, C$3�4H/� $''$�H N-$4 H-$
B$C9$�H/M$ 97/4H�LHC ?3�H�-@! /= $=! N-$4 07/4 97/4HC B$'$BB$" H7 �P H-$ 97/4H�LH �B$ B$��-$"=
�O�392$C 7' 07/4 97/4HC /4 �C9$�H
AC 37"$2 �B$ 3$H-7"G�74CHBL�H7B $O$�LH/74CG��22C! ($2"
���$CC$C! /4/H/�2/Q�H/74C $H�=


7/4 97/4H C-�"7NC :
��; 3�9 "P4�3/� 07/4 97/4HC H7 H-$/B �7BB$C974"/4, CH�H/� �7"$ CHBL�.
HLB$C :$O9B$CC/74! CH�H$3$4H 7B �27�1 /4 H-$ �C9$�H
 2�4,L�,$; H-�H %!��2 P/$2" "P4�3/�
07/4 97/4HC "LB/4, $O$�LH/74 �
���= �-$ C-�"7NC 7' 07/4 97/4HC 3�H�-$" �P 97/4H�LHC �B$
��2�L2�H$" ,/M$4 � 97/4H�LH �4" H-$ 1/4" 7' �"M/�$! /=$=! ���.5� 7B ��;�5=

	4 �LBB$4H �739/2$B H$�-4727,P '7B �C9$�H
.2/1$ 2�4,L�,$C! 
��C 92�P � HN7'72" B72$ :�;
H772C 2/1$ H-$ �C9$�H
 �$M$2793$4H �772C ��2/9C$ 92L,/4 �����R)� LC$ H-$3 H7 3�1$
H-$ �B7CC�LHH/4, CHBL�HLB$ $O92/�/H /4 H-$ �7"$! �4" :�; H-$ N$�M$B LC$C H-$3 �C H-$ 97/4HC
�H N-/�- /H N$�M$C �7"$ '7B "/C9�H�-/4, H7 �"M/�$= �$ �B,L$ H-�H LC/4, 07/4 97/4H C-�"7NC
�C N$�M/4, 27��H/74C -�C C73$ 9B7�2$3C N=B=H= H-$ �739/2�H/74 $'(�/$4�P= �-�"7NC '7B
97/4H�LHC H-�H 3�H�- ($2" ���$CC �4" 3$H-7" �4"G7B �74CHBL�H7B ��22 07/4 97/4HC ��4 /4



,$4$B�2 �$ C9B$�" �22 7M$B H-$ 9B7,B�3D $M$4 N7BC$! H-$P 3�P �99$�B C$M$B�2 H/3$C= �$4�$!
H-$ C�3$ N$�M/4, ��H/74 3LCH �$ $O$�LH$" B$9$�H$"2P �H $��- 7' H-$C$=

�7B /22LCHB�H/74! �74C/"$B H-$ 9C$L"7.�7"$ /4 �/CH/4, 8! �74C/CH/4, 7' HN7 �2�CC$C � �4" �
�4" H-$ �C9$�H �.!= �-$ 2�HH$B $O$�LH$C �"M/�$ �H �4P 97/4H "LB/4, H-$ $O$�LH/74! N-$4
($2"C 7' H-$ �2�CC � �B$ ���$CC$"8= �-$ C-�"7NC 7' �.!AC 97/4H�LH �B$ 3�B1$" �P �4
�CH$B/C1 :6; /4 �/CH/4, 8=
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�/CH/4, 8 �$�M/4, 27��H/74C N/H- �LBB$4H �739/2�H/74 H$�-4/>L$C=

�C 9$B'7B3�4�$ $M�2L�H/74C /4"/��H$! H-/C ��LC$C C/,4/(��4H 7M$B-$�"= �-$ B$�C74 '7B
N-/�- /C H-$ �7392$O/HP 7' � N$�M/4, ��H/74= �/BCH! N-$4 N$�M/4, �"M/�$ "/C9�H�- �7"$ �H �
07/4 97/4H C-�"7N! ��B$ 3LCH �$ H�1$4 7' H-$ �74HB72 *7N 7' H-$ 3$H-7" N-7C$ /4CHBL�H/74C
�B$ �''$�H$"= �H �PH$�7"$ 2$M$2! �74HB72 *7N /C B$�2/Q$" �P 0L39 /4CHBL�H/74C N/H- B$2�H/M$
7''C$HC! N-/�- 3LCH �$ L9"�H$" H7 C1/9 H-$ �""/H/74�2 /4CHBL�H/74C H-�H �739B/C$ H-$ �"M/�$
"/C9�H�- 27,/�= �-$B$ �B$ 7H-$B �74CHBL�HC /4 
�M� �PH$�7"$ ���55� CL�- �C $O�$9H/74 H��2$C
7B "$�L, /4'7B3�H/74 H-�H �2C7 3LCH �$ 1$9H L9.H7."�H$=

�$�74"! /4 7B"$B H7 �79$ N/H- H-$ �7392$O/HP 7' H-$ �PH$�7"$ /4CHBL3$4H�H/74! �PH$�7"$
H7721/HC H-�H ��CHB��H 'B73 "$H�/2C 7' H-$ 
�M� �PH$�7"$ �4" �722$�H/74C 7' 3$H�."�H� �B$ ,$4.
$B�22P LC$"= �-$ �C9$�H
 �739/2$B LC$C H-$ ���� �PH$�7"$ 3�4/9L2�H/74 H7721/H �����D
H-$ �C9$�H�$4�- �739/2$B :���; ���R)� $3927PC �77H ��77�= �-$ LC$ 7' �PH$�7"$ H7721.
/HC �4" �722$�H/74C 7' 3$H�."�H�! -7N$M$B! /4�B$�C$C H-$ �739/2�H/74 H/3$ �4" H-$ 3$37BP
LC�,$ C/,4/(��4H2P=

�$�B$�C/4, H-$ �739/2$.H/3$ 7' �C9$�H
 9B7,B�3C /C � B$2$M�4H /CCL$= �C B$97BH$" /4 ����!
H-$ H/3$ 4$$"$" �P H-$ �C9$�H
 �739/2$B /4�B$�C$C �74C/"$B��2P! �739�B$" H7 H-$ H/3$
4$$"$" �P � �74M$4H/4�2 �739/2$B $M$4 H7 �739/2$ 9B7,B�3C N/H-7LH �C9$�HC= �77B �739/2$
H/3$ 9$B'7B3�4�$ /39��HC H-$ $'(�/$4�P 7' H-$ "$M$2793$4H 9B7�$CC C/4�$ /H C27NC "7N4
H-$ ?�739/2$.H$CH."$�L,@ �P�2$= �LBH-$B37B$! $'(�/$4H �739/2�H/74 H$�-4/>L$C �B$ �BL�/�2
'7B CPCH$3C H-�H CL997BH BL4H/3$ N$�M/4, ����! �H$! �C9��=

	4 H-/C 9�9$B! N$ /4HB7"L�$ � 4$N H$�-4/>L$ '7B N$�M/4, �C9$�H
.2/1$ �C9$�HC N-/�- "$.
�B$�C$C �7H- H-$ 4L3�$B 7' 92��$C N-$B$ �"M/�$ "/C9�H�- 27,/� 3LCH �$ N7M$4 /4 �4" H-$
�7392$O/HP 7' � N$�M/4, ��H/74= �$ 9B$C$4H H-$ �74�$9H �$-/4" H-$ �99B7��- �4" /CCL$C
H7 �$ �74C/"$B$"! "/C�LCC H-$ �LBB$4H /392$3$4H�H/74! /HC 2/3/H�H/74C �4" N�PC H7 �""B$CC
H-$3= �$ $M�2L�H$ H-$ �99B7��- �4" C-7N H-�H /H /4"$$" C9$$"C L9 �739/2�H/74=

�-$ B$3�/4"$B 7' H-/C 9�9$B /C 7B,�4/Q$" �C '7227NC= �$�= K /4HB7"L�$C H-$ �74�$9H 7'
7LB �99B7��-= �$�= I 9B$C$4HC H-$ /392$3$4H�H/74 "$H�/2C= �$�= + "/C�LCC$C 7H-$B N$�M/4,
�99B7��-$C! �,�/4CH N-/�- H-$ �99B7��- 9B797C$" -$B$ /C �739�B$" �P 3$�4C 7' $39/B/��2

8	H �7L2" -�M$ �$$4 "$(4$" H7 3�H�- ��22C H7 3$H-7"C 7' �! �C N$22= �-$ "/C�LCC/74 /C 47H �''$�H$"=

4



$M�2L�H/74 /4 �$�= )= �$�= F CL33�B/Q$C H-$ 9�9$B �C N$22 �C 7LH2/4$C 79$4 /CCL$C �4"
97CC/�2$ C72LH/74C H7 H-$3=

0 �%2�#&(����,�� ���2 %�  % � �1.,��##

�7 "$�B$�C$ H-$ 4L3�$B 7' N$�M/4, 27��H/74C �4"! -$4�$! H-$ �37L4H 7' N$�M/4, B$>L/B$"!
N$ /4HB7"L�$ ���$CC7BC :,$HH$BC �4" C$HH$BC; '7B ($2"C �4" 9B7O/$C '7B 3$H-7"C= �$ N/22
LC$ H-$ H$B3 �&6�$(*� %�2�(�0 :$4M$279$ '7B C-7BH; H7 L4/'7B32P B$'$B H7 ���$CC7BC �4"
9B7O/$C= �4M$279$ 3$H-7"C �B$ ,$4$B�H$" '7B �4P 3$H-7" �4" ($2" /4 H-$ "$�2�B/4, �2�CC=
�4M$279$C C/392P ��22 H-$ 7B/,/4�2 3$H-7"! B$C9$�H/M$2P 9$B'7B3 H-$ 7B/,/4�2 ($2" ���$CC!
�4" H-$4 B$HLB4= �LBH-$B37B$! 3$H-7" ��22G($2" ���$CC C/H$C /4 H-$ 9B7,B�3 �B$ HB�4C'7B3$"
CL�- H-�H /4CH$�" 7' "/B$�H2P ��22/4, � 3$H-7" 7B ���$CC/4, � ($2"! H-$P ��22 H-$ B$C9$�H/M$
$4M$279$ 3$H-7"C=

�7B /22LCHB�H/4, H-$ HB�4C'7B3�H/74 9B7�$CC! �/CH/4, K C-7NC � HB�4C'7B3$" M$BC/74 7' H-$
�7"$ /4 �/CH/4, 8= �74C/"$B H-$ �2�CC � /4 �/CH/4, K �4" �739�B$ /H H7 /HC �7L4H$B9�BH /4
�/CH/4, 8= �-$ M$BC/74 7' � /4 �/CH/4, K -�C HN7 4$N ���$CC7BC '7B A! !�;� �4" 6�;�=
�2C7! H-$ �7"$ 7' � -�C �$$4 HB�4C'7B3$" H7 B$92��$ �4P "/B$�H ���$CC H7 A �P � ��22 H7 H-$
B$C9$�H/M$ $4M$279$= �7B B$�C74C 7' �B$M/HP �4" C/392/�/HP! 47 $4M$279$C '7B H-$ 3$H-7"
�3.12 �4" �3012 �B$ C-7N4 /4 �/CH/4, K=
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�/CH/4, K �$�M/4, 27��H/74C /4 H-$ $4M$279$.��C$" N$�M/4, CHP2$=

�-$ $''$�H 7' H-$ �7"$ ,$4$B�H/74 �4" HB�4C'7B3�H/74 0LCH $O92�/4$" /C H-B$$'72"= �/BCH! /H
C/392/($C H-$ C$�B�- '7B N$�M/4, 27��H/74C= 
$H-7" ��22G$O$�LH/74 �4" ($2" ���$CC 07/4
97/4HC ��4 742P 7��LB N/H-/4 $4M$279$C! /=$=! $4M$279$C �B$ H-$ 742P N$�M/4, 27��H/74C �4"
H-$ C$�B�- '7B N$�M/4, 27��H/74C ��4 �$ "/B$�H2P H�B,$H$" H7 H-$3= �LBH-$B37B$! H-$ 4L3�$B
7' $4M$279$C 9$B 3$3�$B /C 2/3/H$" �-$B$ /C 742P 74$ $4M$279$ 9$B ($2" �4" 1/4" 7'
���$CCD H-$ 4L3�$B 7' $4M$279$C 9$B 3$H-7" /C $>L�2 H7 H-$ 4L3�$B 7' 7M$BB/""$4 M$BC/74C
7' H-$ 3$H-7"=

�7B $O�392$! H-$B$ /C $O��H2P 74$ N$�M/4, 27��H/74 :6; '7B H-$ 97/4H�LH /4 �/CH/4, K= 	H /C
27��H$" /4 H-$ B$C9$�H/M$ ,$HH$B /4 H-$ �2�CC "$�2�B/4, H-$ ($2"= � �74M$4H/74�2 N$�M$B 3LCH
�74C/"$B $M$BP ��2 �PH$�7"$ /4CHBL�H/74 �C � 97H$4H/�2 N$�M/4, 27��H/74= 	4 7LB 9�BH/�L2�B
$O�392$! N$�M/4, 27��H/74 C$�B�- �7L2" �$ $M$4 'LBH-$B 79H/3/Q$" 742P ���$CC$C H7 ($2"C
7' �2�CC � �B$ C$2$�H$" �P H-$ 97/4H�LH! C7 742P $4M$279$C N/H-/4 � �B$ B$2$M�4H H7 H-$
C$�B�-D � C/3/2�B B$CHB/�H/74 7' H-$ C$�B�- �B$� /C 47H 97CC/�2$ N/H- � �74M$4H/74�2 N$�M$B=

�$�74"! �4" 37B$ /397BH�4H2P! N/H- H-$ $4M$279$.��C$" N$�M/4, H-$ 4L3�$B 7' �"M/�$
N$�M/4, ��H/74C /C B$"L�$"= �"M/�$ /C N7M$4 742P 74�$ 9$B �''$�H$" ($2"= 	4 H-$ $O�392$!
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742P 74$ 3$3�$B 3�H�-$C H-$ 9�HH$B4 /4 H-$ 97/4H�LHD H-$B$ /C 742P 74$ N$�M/4, 27��H/74!
/= $=! H-$ N$�M/4, 9B7�$CC -�C H7 �$ 9$B'7B3$" 742P 74�$! B�H-$B H-�4 H-B$$ H/3$C �C N/H-
�74M$4H/74�2 N$�M/4,= �C '�B �C 3$H-7" ��22C �B$ �74�$B4$"! H-$ -P97H-$C/C L4"$B2P/4,
7LB �99B7��- /C H-�H! /4 ,$4$B�2! H-$B$ �B$ 3L�- 37B$ ��22 C/H$C H-�4 "$�2�B�H/74C 7' 3$H-.
7"C= �4 �4�2PC/C 7' H-$ �9$�
�
5% ����� �$4�-3�B1! � B$9B$C$4H�H/M$ C$H 7' �2/$4H �992/.
��H/74C! C-7N$" H-�H H-$ -P97H-$C/C /C �7BB$�H �7B H-$ �7392$H$ �$4�-3�B1 CL/H$! H-$B$ �B$
��7LH H-B$$ H/3$C �C 3�4P ��22C H7 �992/��H/74 3$H-7"C H-�4 "$�2�B$" �992/��H/74 3$H-7"C=
	4 ��C$C N-$4 H-$B$ �B$ 2$CC ��22 C/H$C '7B � 3$H-7" H-�4 972P37B9-/� /392$3$4H�H/74C 7'
H-$ 3$H-7"! 7LB �99B7��- -�C H7 N$�M$ /4 37B$ 92��$C H-�4 �C9$�H
= �LH! �C $O92�/4$"!
H-/C /C 47H �73374 92��$=

�/4�22P! H-$ 37CH /397BH�4H $''$�H 7' /4HB7"L�/4, $4M$279$C /C H-�H H-$ N$�M/4, 9B7�$CC /H.
C$2' �$�73$C $OHB$3$2P C/392$= �4M$279$ 3$H-7"C -�M$ � M$BP 9B/3/H/M$ C$>L$4H/�2 CHBL�.
HLB$ 'B$$ 7' �74HB72 CH�H$3$4HC :$= ,=! %� 7B @#%(�;! $O�$9H/74 -�4"2$BC! 7B "$�L,,/4, /4.
'7B3�H/74= �-/C 3$�4C H-�H �22 9B$��LH/74C N/H- B$,�B" H7 3�/4H�/4/4, H-$ �74HB72 CHBL�HLB$
7' 3$H-7"C �''$�H$" �P N$�M/4, ��4 �$ "B799$"= �$�M/4, �$�73$C C/392$ $47L,- H7 �$
9$B'7B3$" �P 37"/'P/4, H-$ 
�M� �PH$�7"$ "/B$�H2PD 47 H772C '7B �7392$O �PH$�7"$ 3�.
4/9L2�H/74 �4" 2$CC 3$H�."�H� �B$ 4$$"$"=

�-$B$ �B$ C73$ /CCL$C N/H- 7LB N$�M/4, �99B7��-! H-�H 7L,-H H7 �$ �""B$CC$"= �/BCH! $4.
M$279$C �"" �4 /4"/B$�H/74! �''$�H/4, H-$ BL4H/3$ �$-�M/7B 7' H-$ �739/2$" 9B7,B�3= �7N.
$M$B! "L$ H7 37"$B4 0LCH./4.H/3$ :
	�; �739/2/4, M/BHL�2 3��-/4$C �
/1!�7H�! H-$ /4HB7"L�$"
/4"/B$�H/74 742P -�C C3�22 /39��H 74 H-$ BL4H/3$ 9$B'7B3�4�$! �C 7LB $M�2L�H/74 N/22 �2C7
�74(B3= � 
�
 LC/4, � 
	� �739/2$B �739/2$C 
�M� �PH$�7"$ H7 3��-/4$ �7"$ �4" 4�.
H/M$2P $O$�LH$C H-$ 3��-/4$ �7"$= �H H-/C CH$9! C$M$B�2 79H/3/Q�H/74C �B$ �992/$" H7 ,$4$B.
�H$ -/,-.9$B'7B3�4�$ 3��-/4$ �7"$! 74$ 7' N-/�- /C /42/4/4, ���55�= �-$ 
	� �739/2$B
3�P "$�/"$ H7 /42/4$ � 3$H-7" /4CH$�" 7' ��22/4, /H M/� � "/C9�H�- H��2$ N-$4 H-$ ��22 �H -�4"
/C 474.972P37B9-/�= �3�22 3$H-7"C �B$ 37B$ 2/1$2P H7 �$ /42/4$" �$��LC$ H-$ B�H/7 7' �""/.
H/74�2 H/3$ '7B H-$ 
	� �739/2�H/74 �4" H-$ H/3$ C�M$" �P �-$�9$B "/C9�H�- /C �$HH$B H-�4 '7B
2�B,$B 3$H-7"C= �LB $4M$279$ ,$4$B�H/74 3�1$C LC$ 7' H-/C 147N2$",$ H-$ ,$4$B�H$" �7"$
$3�7"/$C -/4HC '7B H-$ 
	� $4��2/4, H-$ 2�HH$B H7 79H/3/Q$ �N�P H-$ /4HB7"L�$" /4"/B$�H/74C=

�-$ ��7M$ C�/"! N$ N7L2" 2/1$ H7 �"" H-$ '7227N/4, B$3�B1= �C '�B �C CPCH$3C N/H- CH�H/�
N$�M/4, �B$ �74�$B4$"! N$ M/$N 7LB �99B7��- �C �7392$3$4H�BP H7 �74M$4H/74�2 N$�M.
/4, H$�-4/>L$C= �$ $4M/C�,$ /H H7 �$ LC$" '7B �739/2/4, H-$ 9B7,B�3 �H "$M$2793$4H
H/3$ N-$4 � '�CH ?�739/2$.H$CH."$�L,@ �P�2$ /C /397BH�4HD �739/2$B H$�-4/>L$C H-�H �/3 �H
BL4H/3$.79H/3�2 �7"$ ��4 H-�4 �$ LC$" '7B 9B7"L�H/74 �L/2"C= �$ �2C7 C$$ 7LB �99B7��- �C
� 9B73/C/4, H$�-4/>L$ '7B �C9$�H.7B/$4H$" $4M/B743$4HC N/H- BL4H/3$ N$�M/4,= 	4 H-7C$
CPCH$3C! 977B �739/2$.H/3$ /C �2C7 977B BL4H/3$! �$��LC$ "$927P/4, �4 �C9$�H /397C$C �
"$2�P 74 H-$ BL44/4, �992/��H/74=

�47H-$B /CCL$ N/H- 7LB �99B7��- /C H-�H $4M$279$C 79$B�H$ 74 H-$ ��22$$ C/H$ �4"! -$4�$!
"7 47H -�M$ "/B$�H ���$CC H7 H-$ ��22$B 7�0$�H= �7 CL997BH H-$ ;#%6 97/4H�LH "$C/,4�H7B 7'
�C9$�H
! N$ 9B7M/"$ �4 $OH$4C/74 H7 CH�4"�B" 
�M� ) �/BHL�2 
��-/4$C H-�H 3�1$C H-/C 1/4"
7' �74H$OH ���$CC/�2$ �,�/4= �-$ $OH$4C/74 /C /392$3$4H$" �P 3$�4C 7' H-$ 
�M� ��H/M$
	4H$B'��$ :
�	; �
�	� �4" H-$ 
�
 �772C 	4H$B'��$ :
�
�	; �
�
�= �C N$ N/22 C$$ /4
C$�H/74 ) H-$ BL4H/3$ 9$4�2HP /397C$" �P H-$ $OH$4C/74 /C 4$,2/,/�2$=
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�/4�22P! L42/1$ �74M$4H/74�2 N$�M/4, �99B7��-$C! $4M$279$.��C$" N$�M/4, "/CH/4,L/C-$C
�$HN$$4 N$�M/4, 27��H/74C �4" 07/4 97/4H C-�"7NC= �LB N$�M/4, 27��H/74C "7 47H "/B$�H2P
�7BB$C97" H7 H-$ �B7CC�LHH/4, CHBL�HLB$ $O9B$CC$" �P H-$ 97/4H�LH �4" ��4 47H �$ LC$" H7
"/C92�P '$$"���1 H7 H-$ 9B7,B�33$B /4 �4 /4H$,B�H$" "$M$2793$4H $4M/B743$4H= �$ N/22
"/C�LCC /4 C$�H/74 F -7N H-/C '$$"���1 ��4 CH/22 �$ 9B7M/"$" �P 7LB �99B7��- N/H-7LH C/,.
4/(��4H2P C27N/4, "7N4 9$B'7B3�4�$=

/ �$(#�$�%.�. &% �,,1�,

	4 H-/C C$�H/74 N$ 9B$C$4H H-$ H$�-4/��2 "$H�/2C 7' H-$ �99B7��-= �$ CH�BH �P C-7BH 9B$C$4H�.
H/74C 7' H-$ 9B7,B�33/4, 37"$2 �4" 7' ���1,B7L4" /4'7B3�H/74 74 H-$ 
�M� �2�CC(2$ '7B.
3�H=

/)' �+&�+�$$ %� �&��#

�$ -�M$ /392$3$4H$" H-$ $4M$279$.��C$" N$�M/4, �99B7��- '7B � CL�C$H 7' �C9$�H
AC
97/4H�LH "$C/,4�H7BCK! 4�3$2P ��((! !�;! �4" 6�; �4" H-$ "P4�3/� ���C ;#%6 �4"
;�5!�;= �C N$ N/22 "/C�LCC! H-$ �99B7��- �992/$C H7 7H-$B 1/4"C 7' 07/4 97/4HC! �C N$22= 	4
H-$ �LBB$4H M$BC/74! N$ 742P CL997BH ���.5� �4" ��;�5 �"M/�$ �LH 47 �5.>+� �"M/�$
N-/�- N$ N/22 �""B$CC /4 'LHLB$ N7B1=

�/4�$ 7LB '7�LC /C 74 H-$ N$�M/4, H$�-4/>L$! N$ "7 47H 9B7M/"$ � "$"/��H$" C7LB�$.�7"$
�739/2$B '7B �C9$�HC= ��H-$B! �"M/�$ 'L4�H/74�2/HP 3LCH �$ /392$3$4H$" �C 47B3�2 M/BHL�2
3$H-7"C /4 CH�4"�B" 
�M� �2�CC$C! N-/�- �B$ �739/2$" �P � 
�M� C7LB�$.�7"$ �739/2$B=
�-$ �2�CC 3LCH -�M$ � 9L�2/� CH�H/� 3$H-7" �60��;	�12! N-/�- B$HLB4C �4 /4CH�4�$ 7'
H-$ �2�CCI= �4 �C9$�H /C C9$�/($" /4 � (2$ �C � 2/CH 7' 97/4H�LH.�4".�"M/�$ "$(4/H/74C /4 H-$
'7227N/4, '7B3�H 

����
�1)0�5�*�;�56"2 � ����
1)0�5�*�;�56"2 �
)0.%+;�>;" �
)�60��; �(�66"3)��?%�� *�;#.�"7

�9 H7 H-$ C$�74" �7274! H-/C /C H-$ C�3$ CP4H�O �C '7B 97/4H�LH.�4".�"M/�$ /4 �C9$�H
=
)0�5�*�;�56" C9$�/($C H-�H M�2L$C 'B73 H-$ �74H$OH 7' � 07/4 97/4H �B$ 9�CC$" H7 H-$
�"M/�$+= �-$ '7227N/4, $O�392$ C-7NC -7N H7 "$(4$ � �$'7B$ �"M/�$ '7B �22 ��22C H7 9L�2/�
3$H-7"C= �-$ �"M/�$ 'L4�H/74�2/HP /C "$(4$" /4 H-$ 3$H-7" ��((��?%��12 /4 H-$ �2�CC
��;#.��+?.��;%.+�60��;=

����
�12 � ��		1���	�� � �3�13322 � ��;#.��+?.��;%.+�60��;3��((��?%��7

K�-$ /392$3$4H�H/74 ��4 �$ "7N427�"$" �H ��4M�=
I�-/C /C /4 H-$ M$/4 7' -7N H-$ �C9$�H
 �739/2$B ,$4$B�H$C 
�M� �PH$�7"$=
+�-$ �"M/�$ 3$H-7"AC C/,4�HLB$ 3LCH "$�2�B$ H-$ C�3$ 9�B�3$H$B 2/CH=
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/)0 ��� 	�2� �#�,, � #� �&+$�.

�/4�$ N$ "/B$�H2P 37"/'P 
�M� �PH$�7"$ �2�CC (2$C ���55�! � C-7BH $O92�4�H/74 7' H-$/B $2$.
3$4HC H-�H �B$ �''$�H$" �P H-$ /392$3$4H�H/74 /C /4 92��$ -$B$= � �2�CC (2$ �74C/CHC 7' C$M.
$B�2 C$�H/74C! 7' N-/�- 742P H-$ '7227N/4, �B$ B$2$M�4H '7B 7LB "/C�LCC/74 HP9$ /4'7B3�.
H/74! �74CH�4H 9772! ($2"C! �4" 3$H-7"C= �-$ �74CH�4H 9772 �74H�/4C! �374, 7H-$B M�2L$C!
H-$ 'L22P >L�2/($" 4�3$C 7' �2�CC$C �4" 3$3�$BC H-�H �B$ B$'$B$4�$" 'B73 H-$ �2�CCA �7"$=

� 3$H-7" "$�2�B�H/74 �74C/CHC 7' �74CH�4H 9772 B$'$B$4�$C H-�H B$C72M$ H7 H-$ 3$H-7"AC
4�3$ �4" C/,4�HLB$ :H-$ 2/CH 7' H-$ 3$H-7"AC 9�B�3$H$BC �4" H-$ B$HLB4 HP9$; �4" H-$ ���$CC
*�,C= ���$CC *�,C B$*$�H H-$ 37"/($BC H-�H �B$ "$�2�B$" '7B H-$ 3$H-7" /4 H-$ C7LB�$ �7"$=

$H-7"C H-�H �B$ 4$/H-$B 4�H/M$ 47B ��CHB��H! -�M$ � �.�� �HHB/�LH$) H-�H CH7B$C H-$ 3$H-7"
�7"P= �9�BH 'B73 H-$ /4CHBL�H/74C! H-$ �.�� �HHB/�LH$ �74H�/4C C$M$B�2 M�2L$C H-�H 3LCH
�$ �74C/"$B$"= �$C/"$C H-$ �.�� (�+!;# M�2L$ N-/�- 3LCH �2N�PC �74H�/4 H-$ �7BB$�H
C/Q$! H-$ M�2L$C *�A 6;��' �4" *�A (.��(6 3LCH �$ H�1$4 ��B$ 7'= �-$P C9$�/'P
H-$ 3�O/3L3 "$9H- 7' H-$ 79$B�4" CH��1 �4" H-$ 4L3�$B 7' N7B"C 4$$"$" H7 CH7B$ 27��2
M�B/��2$C=

/)/ �%.+&�1� %� �%2�#&(�,

�4M$279$C �B$ ,$4$B�H$" /4 H-$ C�3$ �2�CC /4 N-/�- H-$ $4M$279$" 3$3�$B /C "$(4$" �4"
-�M$ H-$ C�3$ M/C/�/2/HP �C H-$/B $4M$279$" 3$3�$BC=

��.�&� �%2�#&(�,) �4P 3$H-7" H7 �$ $4M$279$" /C 3�"$ 9B/M�H$ �4" /HC C/,4�HLB$ /C
�-�4,$" �P �""/4, �4 �""/H/74�2 9�B�3$H$B! H-$ HP9$ 7' N-/�- C$BM$C H-$ 9LB97C$ 7' ,/M/4,
H-$ 3$H-7" H7 $4M$279$ � 4$N /"$4H/HP= �$ ��C/��22P �B$�H$ � 4$N 7M$B27�"$" 3$H-7" H-/C
N�PF=

�-$ ,$4$B�H$" $4M$279$ ,$HC H-$ 4�3$ �4" H-$ C/,4�HLB$ 7' H-$ 7B/,/4�2 3$H-7"= �-$ �7"P
7' H-$ ,$4$B�H$" $4M$279$ 3$H-7" 9$B'7B3C H-B$$ H�C1C :8; 9LC- H-$ �B,L3$4HC '7B H-$
��HL�2 3$H-7" ��22 74H7 H-$ 79$B�4" CH��1! :K; ��22 H-$ 7B/,/4�2 /392$3$4H�H/74! :I; B$HLB4
H7 H-$ ��22$B= �-$ �B,L3$4HC H7 �$ 9�CC$" H7 H-$ 7B/,/4�2 3$H-7" �B$ H-7C$ 9�CC$" H7 H-$
$4M$279$ 3$H-7"= �C H-$ C/,4�HLB$ 7' H-$ 7B/,/4�2 3$H-7" N�C $OH$4"$" �P 74$ 7�0$�H! H-$
$4M$279$ �""/H/74�22P 9�CC$C H-$ �74CH�4H +>(( H7 H-$ $4M$279$" 3$H-7"=

�-$ ��22 'B73 H-$ $4M$279$ H7 H-$ $4M$279$" 3$H-7" /C "/C9�H�-$" CH�H/��22P �$��LC$ H-$
$4M$279$" 3$H-7" /C 3�"$ 9B/M�H$= �-/C ,/M$C H-$ 
	� �739/2$B � -/4H H-�H H-$ ��22$"
3$H-7" ��4 �$ /42/4$"! N-/�- ��C/��22P 79H/3/Q$C �N�P H-$ $4M$279$=

�/4�$ $4M$279$ 3$H-7"C ,$H H-$ 4�3$ 7' H-$ 7B/,/4�2 3$H-7"! ��22 C/H$C "7 47H 4$$" H7 �$
37"/($"=

)�H-$B �HHB/�LH$C �B$ /BB$2$M�4H '7B 7LB "/C�LCC/74D H-$P �B$ 4$/H-$B B$�" 47B 37"/($" �P 7LB /392$3$4H�H/74=
F�$ �-�4,$ H-$ 3$H-7"AC /"$4H/HP �P �-�4,/4, /HC C/,4�HLB$ B�H-$B H-�4 /HC 4�3$! �$��LC$ B$4�3/4, N7L2"

M/72�H$ C73$ 9B$CL39H/74C 3�"$ �P H-$ �PH$�7"$ M$B/($B=
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� �#� �%2�#&(�,) �-$ 4�3/4, C�-$3$ '7B ($2" $4M$279$C $4�7"$C H-$ 4�3$ 7' H-$ "$�2�B.
/4, �2�CC! H-$ ($2" 4�3$! �4" H-$ 1/4" 7' ���$CC= �-$ /4�2LC/74 7' H-$ �2�CC 4�3$ $4CLB$C
H-�H 47 $4M$279$ 3$H-7" N/H- H-$ C�3$ 4�3$ /C ���/"$4H�22P /4-$B/H$" 'B73 � CL9$B�2�CC=
�/$2" $4M$279$C ��447H �$ /4-$B/H$" �$��LC$ H-$P �B$ ,$4$B�H$" N/H- H-$ 37"/($B (4�2=

�-$ �7"P 7' � ($2" $4M$279$ 3$H-7" -�C � C/3/2�B '7B3 �C � 3$H-7" $4M$279$AC �7"P= �/BCH
H-$ �74H$OH '7B H-$ ($2" ���$CC /C $CH��2/C-$"= �-/C /C �7397C$" 7' H-$ 7�0$�H N-7C$ ($2"
/C H7 �$ ���$CC$" :;#%6 /4 H-$ �74H$OH 7' H-$ $4M$279$; �4"! /4 H-$ ��C$ 7' � ($2".NB/H$
���$CC! H-$ ($2"AC 4$N M�2L$= �$OH! H-$B$ �B$ �4 /4CHBL�H/74 '7B "/B$�H ($2" ���$CC �4" �4
�99B79B/�H$ B$HLB4/4, /4CHBL�H/74=

�7 B$92��$ "/B$�H ($2" ���$CC$C N/H- ��22C H7 B$C9$�H/M$ ($2" $4M$279$C! H-$ �7"$ 7' �22
3$H-7"C H-�H ���$CC ($2"C /C 37"/($"= �22 /4CHBL�H/74C '7B "/B$�H ($2" ���$CC �B$ B$92��$"
�P /4CHBL�H/74C ��22/4, H-$ B$C9$�H/M$ ,$4$B�H$" $4M$279$ 3$H-7"C= �-$ 4�3$ 7' H-$ $4M$.
279$ 3$H-7" H7 LC$ '7B H-$ ��22 /C "$B/M$" 'B73 H-$ ($2" B$'$B$4�$ �4" H-$ 1/4" 7' ���$CC=
�-$ /4CHBL�H/74C '7B "/B$�H ($2" ���$CC ��4 C/392P �$ 7M$BNB/HH$4 N/H- H-$ /4CHBL�H/74C H-�H
��22 H-$ $4M$279$ 3$H-7"C �$��LC$ H-$P 7��L9P H-$ C�3$ 4L3�$B 7' �PH$C=

�4M$279$ 3$H-7"C '7B ($2"C �B$ >L�C/.CH�H/��22P "/C9�H�-$" �C H-$P -�M$ 47 CL9$B /392$.
3$4H�H/74 �4" �B$ (4�2= �M$4 H-7L,- H-$P �B$ /4M71$" 2/1$ M/BHL�2 3$H-7"C! H-$P �$-�M$
�C /' H-$P N$B$ �$/4, CH�H/��22P "/C9�H�-$" �4" H-$ 
	� �739/2$B ��4 B$�7,4/Q$ �4" $O927/H
H-/C '��H H7 ,$4$B�H$ $'(�/$4H 3��-/4$ �7"$=

�(�� �# ��,�,� �&+ 3� �� %& �%2�#&(�, �+� ��%�+�.��) 	4 HN7 ��C$C 47 $4M$279$C �B$
,$4$B�H$"= �/BCH! '7B ($2"C "$(4$" /4 /4H$B'��$CD "$(4/4, 474.��CHB��H 3$H-7"C /4 /4H$B.
'��$C /C 47H 97CC/�2$E= � N7B1�B7L4" /C H7 ,$4$B�H$ � "$"/��H$" �2�CC �74H�/4/4, $4M$279$C
'7B /4H$B'��$ ($2"C= �$�74"! 47 $4M$279$C �B$ ,$4$B�H$" '7B 4�H/M$ 3$H-7"C �$��LC$ H-/C
N7L2" B$>L/B$ H-�H H-$ C/,4�HLB$ 7' H-$ 4�H/M$ /392$3$4H�H/74 /C �-�4,$"%=

/)� ���2 %�  % .�� �%2�#&(�,

���6!&� ��6!�� �00(�!�2�� 7!2� 02�2!� *(!&2�520 :��((! !�;! 7B 6�;; /C C/392$= �4.
M$279$C �2N�PC -�M$ H-$ C�3$ CHBL�HLB$ :C�-$3�H/��22P C-7N4 �P H-$ ,B�9-/� 74 H-$ 2$'H.
-�4" C/"$ 7' �/,= 8; �4" H-$B$ /C $O��H2P 74$ 27��H/74 N/H-/4 H-$/B �7"$ N-$B$ H7 /4C$BH H-$
,$4$B�H$" �"M/�$ "/C9�H�- 27,/�= �$9$4"/4, 74 H-$ 1/4" 7' �"M/�$! H-/C /C $/H-$B B/,-H �$.
'7B$ H-$ (BCH /4CHBL�H/74 7' H-$ $4M$279$ 7B B/,-H �'H$B H-$ /4CHBL�H/74 /4 H-$ 3/""2$ 7' H-$
$4M$279$! N-$B$ H-$ $4M$279$" 3$3�$B /C ���$CC$"= �7 '��/2/H�H$ N$�M/4,! �LO/2/�BP "�H�
CHBL�HLB$C �B$ ,$4$B�H$" "LB/4, H-$ HB�4C'7B3�H/74 9-�C$= � �PH$ �BB�P H-�H -72"C H-$ �PH$.
�7"$ '7B $4M$279$C /C CH7B$" '7B $��- 97CC/�2$ 07/4 97/4HD H-$ /4"$O 7' H-$ /4CHBL�H/74 N-$B$
H-$ $4M$279$" 3$3�$B /C ���$CC$" /C �2C7 3�B1$"! C7 H-�H H-$ 97C/H/74 ��4 �$ ���$CC$" "/.
B$�H2P /' 4$$"$" H7 N$�M$ �4 �'H$B �"M/�$=

E� ($2" ���$CC /C B$92��$" �P � ��22 H7 H-$ B$C9$�H/M$ $4M$279$! 742P /' H-$ ($2" /C 47H "$(4$" /4 �4 /4H$B'��$=
%�-$ 4�H/M$ /392$3$4H�H/74 /C 2771$" L9 LC/4, � 4�3/4, C�-$3$= �7B H-$ 4�H/M$ 7M$B27�"$" 3$H-7" ?.%�

*1%+;2 /4 �2�CC 0�'!�3�! H-$B$ 3LCH �$ � 'L4�H/74 4�3$" ��?� 0�'!� � * � /4 � 4�H/M$ 2/�B�BP �
�	�=
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H H

6�P 6�P

)
)

)
)

�/,LB$ 8 �7N �27�1C 7' �"M/�$ "/C9�H�- �7"$ �B$ N7M$4=

�-$ �"M/�$ "/C9�H�- �27�1 /C �2C7 C/392$= �7B �4P 97/4H�LH.�"M/�$ ���.5�12 : ��$
;�512 � )0.%+;�>;" � �.*��60��;36.*���?%��! H-$ �7"$ H7 N$�M$ /4
�7BB$C974"C H7 H-$ C7LB�$ �7"$ �.*��60��;3�60��;	�1236.*���?%��12= �7/4H.
�LHC ��4 �2C7 $OHB��H M�2L$C 'B73 H-$ �74H$OH 7' 3�H�-$" 07/4 97/4HC H7 �$ 9�CC$" H7 �"M/�$=
	4 H-/C ��C$! �""/H/74�2 /4CHBL�H/74C �B$ ,$4$B�H$" N/H-/4 H-$ �"M/�$ "/C9�H�- 27,/� H-�H 9�CC
H-$ B$C9$�H/M$ M�2L$C H7 H-$ /4M71$" �"M/�$ 3$H-7"=

���2 %� �&+ �4%�$ � (& %.�1. ��, �%�.&+, :��(.@! ;#%6! ;�5!�;! @%;#%+; /C
C2/,-H2P 37B$ �7392/��H$"= 	4 H-$/B 9B$C$4�$ �"M/�$ /C 742P *(00!�$9 $O$�LH$" �H � N$�M/4,
27��H/74= �74"/H/74�2 27,/� :��22$" B$C/"L$ /4 ����; 3LCH 9B$�$"$ H-$ �"M/�$ /4M7��H/74 /4
H-$ �"M/�$ "/C9�H�- 27,/�! H7,$H-$B N/H- � �B�4�- /4CHBL�H/74 H-�H C1/9C H-$ �"M/�$ /4M7��.
H/74! /' H-$ �-$�1 '�/2C= �-$ B$2�H/M$ 7''C$H 7' H-$ �B�4�- /4CHBL�H/74 /C (O H-$ 2$4,H- 7' H-$
'7227N/4, /4CHBL�H/74C '7B H-$ �"M/�$ "/C9�H�-= �-�H /C! � �27�1 7' /4CHBL�H/74C H7 N$�M$ '7B
� 3�H�-/4, 97/4H�LH.�"M/�$ �74H�/4C 742P 0L39 /4CHBL�H/74C H�B,$H$" 0LCH �$-/4" H-$ �27�1!
/' �4P= �74C$>L$4H2P! $��- CL�- �27�1 ��4 �$ -�4"2$" C$9�B�H$2P �4" /4C$BH/4, 74$ 7' H-$3
"7$C 47H B$>L/B$ H7 L9"�H$ 7H-$BC �2B$�"P /4C$BH$"! �C C�-$3�H/��22P C-7N4 /4 �/,= 8=

�7B H-$ "P4�3/� ���C! ��(.@! @%;#%+! �4" ;#%6! H-$ "P4�3/� �74H$OH H7 �$ �-$�1$"
/C 47H "/B$�H2P ���$CC/�2$ /4 7LB N$�M/4, �99B7��-= @%;#%+ �4" ;#%6 B$'$B H7 �74H$OH H-�H
��4 �$ B$C72M$" CH�H/��22P N/H- �C9$�H
AC N$�M/4, CHP2$= �-/C /C 47H HBL$ '7B 7LB �99B7��-!
C/4�$ H-$ �"M/�$ "/C9�H�- /C N7M$4 /4 ��22$$AC B�H-$B H-�4 /4 ��22$BAC �74H$OH= �$ B$C72M$
H-$ �74H$OH $O97C$" �P H-$C$ ���C "P4�3/��22P= �-$4 H-$ 
�� /C $O$�LH$" /4 �4 $4M$279$!
�7H- ���C B$'$BC H7 H-$ 3$H-7" 74 H-$ ��22 CH��1 0LCH �$27N H-$ $4M$279$= �-/C �74H$OH
/C 9B7M/"$" /4 7LB �99B7��- �P 3$�4C 7' � CH�H/� 4�H/M$ 3$H-7" H-�H LC$C H-$ 
�
 �772C
	4H$B'��$ :
�
�	;= �/,-H 47N! N$ "7 47H CL997BH ��(.@D N$ 92�4 H7 /392$3$4H /H /4 �
C/3/2�B N�P �C H-$ �C9$�H
 �739/2$B ����=

�'H$B N$�M/4, H-$ "/C9�H�- 27,/� '7B �22 �992/���2$ 97/4H�LH.�"M/�$! �4 $4M$279$AC �7"$
2$4,H-! /HC 4L3�$B 7' 27��2 M�B/��2$C! �4" H-$ 3�O/3L3 "$9H- 7' H-$ 79$B�4" CH��1 �B$
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�"0LCH$"= �C C-7N4 /4 �/,= 85! $��- �27�1 7' �"M/�$ "/C9�H�- :N/H- 7B N/H-7LH B$C/"L$C; /C
�$ B$,�B"$" C$9�B�H$2PD H-$ ��2�L2�H$" M�2L$C �B$ �,,B$,�H$"= �7 �7392$O �4�2PC/C 7' H-$
$4M$279$ 3$H-7" �'H$B N$�M/4, /C 4$�$CC�BP=

/)� ���2 %� 
&��. &% ���+��

�/4�$ 07/4 97/4HC 742P 7��LB /4 7LB $4M$279$ 3$H-7"C! N$ ��4 $3927P � "/''$B$4H 3�H�-/4,
CHB�H$,P H-�4 H-$ �C9$�H
 �739/2$B= �-$B$! $M$BP 97CC/�2$ N$�M/4, 27��H/74 /C 3�H�-$"
�,�/4CH H-$ "$�2�B$" 97/4H�LHC ����= 	4 �74HB�CH! N$ 3�H�- H-$ 97/4H�LHC 742P �,�/4CH �22
$4M$279$C= 	4 �""/H/74! H-$ $4M$279$C �B$ �74H�/4$" /4 � -/$B�B�-/��2 CHBL�HLB$ B$*$�H/4, H-$
�992/��H/74AC �2�CC -/$B�B�-P= �7B 97/4H�LHC �74H�/4/4, HP9$ B$CHB/�H/74C! CL�- �C ��((1�
�(�66
B0�3�13322! H-/C �227NC LC H7 BL2$ 7LH � 2�B,$ 4L3�$B 7' N$�M/4, 27��H/74C
M$BP '�CH! C/4�$ $4M$279$C 47H �74H�/4$" /4 �(�66
B0� "7 47H -�M$ H7 �$ /4M$CH/,�H$"=

/)- �4%�$ � 3��2 %�

�$ -�M$ /392$3$4H$" � 9B7H7HP9$ '7B � "P4�3/� N$�M/4, $4M/B743$4H LC/4, 7LB $4M$279$.
��C$" N$�M/4,= �-/C 9B7H7HP9$ /C B$�2/Q$" �C � 
�M� �,$4H LC/4, CH�4"�B" 
�M� ) '$�HLB$C=
�-$ �,$4H /C ��22$".���1 'B73 H-$ 
�
 H7 HB�4C'7B3 � 
�M� �2�CC (2$ 0LCH �$'7B$ H-$ �2�CC
/C "$(4$" �P H-$ 
�
= �-/C /C N-$4 H-$ $4M$279$C �B$ /4HB7"L�$"D H-$ C�3$ B$9B$C$4H�H/74
7' H-$ HB�4C'7B3$" �2�CC (2$ �C 9B$C$4H$" /4 �$�= I=+ /C 1$9H /4 3$37BP= �-$4 �4 �C9$�H
/C "$927P$"! N$�M/4, 27��H/74 C$�B�- �4" N$�M/4, /C 9$B'7B3$" �C "$C�B/�$" /4 �$�= I=)!
B$C9$�H/M$2P I=+= �2�CC$C H-�H �74H�/4 $4M$279$C N-/�- -�M$ �$$4 37"/($" /4 H-$ N$�M/4,
CH$9 �B$ B$"$(4$" LC/4, H-$ �7H�N�9 ��3/R8� H$�-4727,P=

� ��#�.�� �&+"

	4 H-/C C$�H/74! N$ "/C�LCC B$2�H$" N7B1 �,�/4CH N-/�- N$ N/22 $M�2L�H$ $4M$279$.��C$"
N$�M/4, /4 H-$ '7227N/4, C$�H/74=

�)' �,(��. �&$( #�+,

�-$B$ �B$ HN7 �739/2$BC 9L�2/�2P �M�/2��2$ '7B �C9$�H
.2/1$ ��� 2�4,L�,$C H-$ �&� �73.
9/2$B /4�2L"$" /4 H-$ �C9$�H
 "/CHB/�LH/74 ��C9��! �4" H-$ �C9$�H�$4�- �739/2$B ���R)�
:��� '7B C-7BH;=

5�-$ 9B$�$"$4�$ 7' "/''$B$4H �"M/�$ H-�H �''$�H H-$ C�3$ N$�M/4, 27��H/74 -�C 47H P$H �$$4 �""B$CC$" �4" /C
�B�/HB�BP /4 H-$ �LBB$4H /392$3$4H�H/74=
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�-$ �C9$�H
 �739/2$B $3927PC C73$ 79H/3/Q�H/74C H�B,$H$" �H B$"L�/4, H-$ �739/2�H/74
H/3$ ����= �$M$BH-$2$CC! $M$4 /4 H-$ ��C$4�$ 7' �C9$�HC! H-$ �739/2�H/74 N/H- �&�! M$B.
C/74 8=8! /C ��7LH FK < C27N$B H-�4 N/H- &�?��! M$BC/74 8=+= �-/C /C �$��LC$ H-$ N$�M$B
C��4C �22 �/4�B/$C 9B7"L�$" �P H-$ C7LB�$ �7"$ �739/2$B '7B N$�M/4, /4CHBL�H/74C=

�-$ '7�LC 7' ��� /C 74 $OH$4C/�/2/HP= 	H /C "$C/,4$" H7 '��/2/H�H$ $�CP /392$3$4H�H/74 7'
4$N 2�4,L�,$ '$�HLB$C �4" 79H/3/Q�H/74C ���R)�= �-$ �LCH73/Q�H/74 97N$B /C "$B/M$"
'B73 �72P,27H ��72�! � �739/2$B 'B�3$N7B1! �4" �77H ��77� 74 N-/�- ��� /C �L/2H= 	4 C73$
��C$C! ��� ,$4$B�H$C �7"$ H-�H $O-/�/HC �$HH$B BL4.H/3$ 9$B'7B3�4�$ �C �739�B$" H7 �&�
�����= �7N$M$B! �H H-$ �7CH 7' � �739/2�H/74 H/3$ H-�H /C C27N$B H-�4 N/H- �&� �����=
�7B H-/C B$�C74! N$ N/22 47H 'LBH-$B �74C/"$B ��� /4 H-$ $M�2L�H/74 C$�H/74=

�)0 �1%. $� ���2 %�

	4 H-$ '7227N/4,! N$ "/C�LCC H-B$$ ��� /392$3$4H�H/74C '7B 
�M� 7''$B/4, BL4H/3$ N$�M/4,
N/H- B$,�B" H7 -7N H-$P N$�M$ �C9$�H 'L4�H/74�2/HP /4H7 ��C$ �992/��H/74 �7"$= ���- 7'
H-$3 B$9B$C$4HC � C9$�/(� �99B7��- H7 BL4H/3$ N$�M/4,=

�,(��.��+"5 0)6 ��C9�� HB�4C'7B3C 97CC/�2$ 07/4 97/4H C-�"7NC H-B7L,- � �739/2$B 7B
�H 27�".H/3$= �"M/�$ /4M7��H/74C �B$ $/H-$B N7M$4 /4 "LB/4, H-$ HB�4C'7B3�H/74 CH$9 7B H-$
C-�"7NC �B$ 3$B$2P */�*�/�� '7B 2�H$B �HH��-3$4H 7' �"M/�$= �$M$B�2 7H-$B ��� /392$.
3$4H�H/74C N/H- BL4H/3$ N$�M/4, '7227N ��C/��22P H-$ C�3$ �99B7��-! 2/1$ 
�� ������
�4" 
�7CC ��� �
�7�=

�H (BCH C/,-H! �C9$�H�$B1QAC N$�M/4, �$�BC C73$ C/3/2�B/HP N/H- 7LB �99B7��-= 	4 �7H-
��C$C ,$4$B�H$" 3$H-7"C �B$ /4M71$" �H 07/4 97/4H C-�"7NC= �7N$M$B! L42/1$ 7LB �99B7��-!
�C9$�H�$B1Q "7$C 47H �/3 �H B$"L�/4, H-$ 4L3�$B 7' N$�M/4, 27��H/74C= �-$ 9LB97C$ 7'
,$4$B�H$" 3$H-7"C B�H-$B /C H7 '��/2/H�H$ 2�H$ /4HB7"L�H/74 7' �"M/�$= �B�99$BC �B$ ,$4$B.
�H$" 74 H-$ ��22$B C/H$ �4$ NB�99$B 9$B �''$�H$" 3$3�$B �4" 9$B 3$H-7" /4 N-/�- H-$
���$CC 7��LBC= �/3/2�B H7 �74M$4H/74�2 N$�M/4, N/H- �&�! H-$ C�3$ N$�M/4, ��H/74 3LCH
�$ $O$�LH$" 3L2H/92$ H/3$C= �2C7! L42/1$ 7LB �99B7��-! M�2L$C 'B73 H-$ 7B/,/4�2 07/4 97/4H
C-�"7N �74H$OH �B$ 9�CC$" H7 H-$ /4M71$" ,$4$B�H$" 3$H-7"! N-/�- B$>L/B$C �7CH2P 37"/.
(��H/74C 7' H-$ 3$H-7" �74H�/4/4, H-$ 07/4 97/4H C-�"7N=

�.��$#&&$ ���
�! ��! �H$� 9B7M/"$C CL997BH '7B �C9$�H.7B/$4H$" 3$�-�4/C3C �H H-$
$O$�LH/74 2�P$B= 	H /C /392$3$4H$" �C �4 $OH$4C/74 H7 	�
AC 
/1$C �$C$�B�- �/BHL�2 
�.
�-/4$ :��
; �
/1�= 	4 �H$�32773! N$�M/4, 27��H/74 B$HB/$M�2 �4" N$�M/4, �B$ $4H/B$2P
"74$ �H BL4H/3$= �-$4 �C9$�HC �B$ N7M$4 /4H7 � BL44/4, �992/��H/74! �"M/�$ 3$H-7" /4M7.
��H/74C �B$ /4C$BH$" �H �22 �7BB$C974"/4, N$�M/4, 27��H/74C! �4" H-$ �''$�H$" 3$H-7"C �B$
B$�739/2$" N/H- H-$ 
	� �739/2$B=

�7M$4 �7"$ /C 3/4/3�2 /4 �H$�32773= �42P /4CHBL�H/74C 4$�$CC�BP H7 9B$9�B$ �4" $O$.
�LH$ �"M/�$ /4M7��H/74C �B$ N7M$4 /4 �H N$�M/4, 27��H/74C N-/�- �B$ H-$ C�3$ �C 07/4 97/4H
C-�"7NC! C/3/2�B �&�= �-$B$'7B$! L42/1$ /4 H-$ �99B7��- 9B$C$4H$" -$B$! 47 /4"/B$�H/74C
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�B$ /4HB7"L�$"= �-$ 7M$B-$�" /4"L�$" �P B$�739/2/4, 3$H-7"C /C �739�B��2$ H7 H-$ 7M$B.
-$�" 7' B$"$(4/4, �2�CC$C H-B7L,- �7H�N�9= �$M$BH-$2$CC! �H$�32773 9$B'7B3C 37B$ $O.
9$4C/M$ >L$B/$C 74 H-$ �992/��H/74AC �PH$�7"$ H-�4 7LB $4M$279$.��C$" N$�M/4, �99B7��-!
N-$4 $M�2L�H/4, 97/4H�LHC= 	HC N$�M/4, �99B7��- /C ��C/��22P H-�H 7' H-$ �C9$�H
 �739/2$B!
$O�$9H H-�H /H /C 9$B'7B3$" �H H-$ �
 2$M$2=

��
�� ����! ���! ����! H-$ H-/B" �99B7��- N$ H�1$ /4H7 ���7L4H! $O/CHC /4 HN7 M$B.
C/74C= �-$ 74$ N$ �74C/"$B -$B$ :��22$" ����� 8; B$2/$C 74 � CH�4"�B" 
�
AC "$�L,,$B
/4H$B'��$ �4" /C L4/>L$ /4 H-�H /H "7$C 47H /4CHBL3$4H �4 �992/��H/74AC �7"$ �H �22= �974
N$�M/4, �4 �C9$�H /4H7 � BL44/4, �992/��H/74! ����� 8 B$,/CH$BC �B$�197/4HC �H H-$ 
��C 7'
H-$ �C9$�H= �7 H-�H $4"! � �$BH�/4 �37L4H 7' >L$BP/4, H-$ 27�"$" �2�CC$CA �PH$�7"$C /C 4$�.
$CC�BP= �4�$ � �B$�197/4H /C B$,/CH$B$" �4" B$��-$"! $O$�LH/74 �B�4�-$C H7 H-$ ����� /4.
'B�CHBL�HLB$! N-/�- 2771C L9 H-$ �99B79B/�H$ �"M/�$ 'L4�H/74�2/HP �4" /4M71$C /H= 	4 �����
8! 47 3$H-7"C -�M$ $M$B H7 �$ B$�739/2$"! N-/�- /C �4 �"M�4H�,$ 7M$B H-$ 7H-$B "/C�LCC$"
�99B7��-$C! �4" 7M$B 7LB $4M$279$.��C$" N$�M/4, /392$3$4H�H/74= �-$ "7N4C/"$ 7' /HC
�99B7��- /C HN7'72"= �/BCH! /H 4$$"C H/3$ H7 >L$BP H-$ �992/��H/74 �PH$�7"$C H7 /"$4H/'P
�B$�197/4HC= �$�74"! �74H$OH CN/H�-$C �H "$�L,,$B �B$�197/4HC �B$ M$BP $O9$4C/M$=

�-$ C$�74" M$BC/74 7' ����� ��C/��22P 9LBCL$C H-$ C�3$ CHB�H$,P '7B "$927P/4, �C9$�HC=
�7N$M$B! /H "7$C 47H B$2P 74 H-$ 
�
AC "$�L,,$B /4H$B'��$ �LH 9B7M/"$C C/3/2�B '$�HLB$C
�P 3$�4C 7' �4 $OH$4C/74 7' H-$ 
/1$C ��
=

� �2�#1�. &%

	4 H-/C C$�H/74! N$ �739�B$ $4M$279$.��C$" N$�M/4, N/H- �C9$�H
 8=K=8 ��C9��! �C9$�H�$B1Q
K=R ��C9��! ����� 8=K=8 �����! �4" �H$�32773 R=) ��H$�= �/BCH! 7LB �739�B/C74 /4M72M$C
�739/2�H/74 9$B'7B3�4�$ :�; �C9$�H N$�M/4, H/3$ /4 H-$ �74H$OH 7' �7H- CH�H/� �739/2�.
H/74 �4" :�; "P4�3/� N$�M/4,! �4" :�; 3$37BP �74CL39H/74 �B$ 3$�CLB$"= �$�74"! N$
�74C/"$B H-$ BL4H/3$ /39��H 7' �C9$�H 7B/$4H$" $O$�LH/74 $4M/B743$4HC /4 H$B3C 7' :"; H-$
H-$ 7M$B�22 9$B'7B3�4�$ 7' �992/��H/74C �4" :$; H-$ 9$B'7B3�4�$ 7' C/4,2$ 07/4 97/4HC /4
��C$4�$ �4" 9B$C$4�$ 7' �"M/�$=

�22 3$�CLB$3$4HC N$B$ 9$B'7B3$" 74 � �L�2 �$74 N7B1CH�H/74 :I ��Q 9$B ���; BL44/4,
�/4LO K=+=KE N/H- K �� 3$37BP= �C9$�H
 �4" �C9$�H�$B1Q N$B$ BL4 74 H-$ �L4 �7H�97H

�
! M$BC/74 8=)=R R8! �4" ����� N�C BL4 74 M$BC/74 8=+=K R% 7' H-�H �
 :4$N$B �
C
"7 47H CL997BH �����;=

�)' ���2 %� ��+�&+$�%�� �%� ��$&+4 �&%,1$(. &%

�.�. � 3��2 %� (�+�&+$�%�� /C 3$�CLB$" �P �739/2/4, H-$ ��2�4.
 ���� 9�BC$B ���2�
N-/�- �74C/CHC 7' 4$�B2P 8KRR �2�CC$C= �$ -�M$ LC$" "/''$B$4H �739/2�H/74 C�$4�B/7C 
N/H-7LH �4P �C9$�H :474$;! N/H- �4 �C9$�H �"M/C/4, ��22C 7' � C9$�/($" 3$H-7" :��22.74$;!
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�/,LB$ K �739/2�H/74 7M$B-$�"C '7B "/''$B$4H �739/2�H/74 C�$4�B/7C=

�4" N/H- �4 �C9$�H �"M/C/4, �22 ��22C8R H7 9L�2/� 3$H-7"C "$�2�B$" /4 �2�CC$C /4 H-$ ��2�4
9��1�,$C :��22.�22;= �-$ �"M/�$ C/392P /4�B$�C$C � �7L4H$B= 	4 �C9$�H
! �"M/�$ ��4 �$
N7M$4 �H 3$H-7" ��22 C/H$C 7B $O$�LH/74 C/H$C88= 	4 H-$ 2�HH$B ��C$ H-$ 4L3�$B 7' N$�M/4,
��H/74C /C B$"L�$"! �C /H /C /4 7LB �99B7��-= �7B H-/C B$�C74! N$ �2C7 3$C�LB$" �&�AC
7M$B-$�" N-$4 74$ C9$�/(� $O$�LH/74 C/H$ :$O$�.74$;! �4" $O$�LH/74C C/H$C 7' �22 9L�2/�
3$H-7"C /4 ��2�4 9��1�,$C :$O$�.�22; �B$ �"M/C$"= �7B 9$B'7B3�4�$ B$'$B$4�$ M�2L$C! N$
-�M$ �739/2$" ��2�4 N/H- H-$ 
�M� �739/2$B 'B73 H-$ ��2/9C$ 
��! M$BC/74 R=+)K �IRO!
N-/�- H�1$C F=+ C$�74"C= �-$ 7M$B-$�"C /4 �739/2�H/74 H/3$ H-�H �&� �4" 7LB �739/2$B
P/$2" N-$4 �739/2/4, ��2�4 '7B H-$ M�B/7LC �74(,LB�H/74C �B$ "/C92�P$" /4 �/,= K= �7B
�&�! N$ 742P ,/M$ H-$ 7M$B�22 7M$B-$�"D '7B 7LB 7N4 �739/2$B! N$ �2C7 9B7M/"$ "$H�/2C 74
-7N H-$ 7M$B�22 �739/2�H/74 7M$B-$�" /C �7397C$"=

�/1$ �&�! H-$ 7M$B-$�" 7' 7LB H772 /4�B$�C$C N/H- H-$ 4L3�$B 7' �''$�H$" N$�M/4/, 27��.
H/74C= �7N$M$B! '7B 7LB H772 H-$ /4�B$�C$ B�H$ /C �74C/"$B��2P C3�22$B= �-$ 7M$B-$�" B�4,$C
'B73 I+< /4 H-$ C/392$CH ��C$ H7 IF< /4 H-$ 37CH �7392$O ��C$= �7B �C9$�H
 H-$ 7M$B-$�"
B�4,$C 'B73 F+< H7 K%5<=

�4%�$ � 3��2 %� (�+�&+$�%�� N�C 3$�CLB$" '7B �C9$�H�$B1Q! ����� �4" 7LB 9B7.
H7HP9$ "$C�B/�$" /4 �$�= I=F LC/4, $4M$279$.��C$" N$�M/4,= �$ -�M$ LC$" H-$ ��P�B��$B
�$4�-3�B1 'B73 H-$ 
�M��B�4"$ �$4�-3�B1 �722$�H/74 �
�M��= �-$ �992/��H/74! �74C/CH/4,
7' 88 �2�CC$C! N�C "$�7B�H$" N/H- �4 �C9$�H H-�H �"M/C$C �22 ��$$0 H7 9L�2/� 3$H-7"C "$�2�B$"
/4 H-$ 5�B;5���5 9��1�,$ N/H- � C/392$ �7L4H$B./4�B$3$4H/4, �"M/�$= �7B H-$C$ 3$�.
CLB$3$4HC! N$ "/CH/4,L/C- H-$ H/3$ 4$$"$" H7 */�*�/� H-$ �992/��H/74 �2�CC$C 'B73 H-$ H/3$
'7B ��HL�22P ��*$(9!&� �4 �C9$�H �H BL4H/3$= ����� "7$C 47H �74"L�H 9B$9�B�H/74= �B$9�.
B�H/74 H�1$C IEF 3C /4 �C9$�H�$B1Q �4" 742P FF 3C /4 7LB 9B7H7HP9$= �$927P3$4H H�1$C

8R�"M/C/4, ���$CC$C H7 �22 ($2"C "$�2�B$" /4 �4P ��2�4 �2�CC P/$2"C �739�B��2$ B$CL2HC=
88�-$ C�3$ /C 47H 97CC/�2$ '7B ($2" ���$CC$C=

14



�4 �""/H/74�2 +K+ 3C /4 �C9$�H�$B1Q �4" 8R8 3C /4 7LB 9B7H7HP9$D ����� H�1$C FEE 3C=
�,�/4! �M7/"/4, $O9$4C/M$ 2771L9 79$B�H/74C /4 $4M$279$.��C$" N$�M/4, /C �$4$(�/�2=

���% �&$(�+ %� $�$&+4 �&%,1$(. &%� 7LB �99B7��- �,�/4 �$4$(HC 'B73 H-$ �M7/".
�4�$ 7' 3$37BP./4H$4C/M$ "�H� CHBL�HLB$C �C �C9$�H
 4$$"C H-$3 "LB/4, N$�M/4,= �-$4
$O$�LH/4, C�$4�B/7 :��22.�22;! �&� 4$$"C 8K8 
� 7' 3$37BP! N-/2$ 7LB �99B7��- 742P �74.
CL3$C FE 
�=
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�/,LB$ I ����0M35% B$CL2HC=

�7 3$�CLB$ H-$ !%*��2 7' H-$ M�B/.
7LC ��� $4M/B743$4HC 74 H-$ BL4.
H/3$ 9$B'7B3�4�$ 7' �992/��H/74C
H-�H �B$ 47H "$�7B�H$" N/H- �C.
9$�HC! N$ -�M$ LC$" H-$ ����0M35%
�$4�-3�B1C �����= �-$P N$B$ BL4
L437"/($" 74 H-$ �7H�97H 8=+=K
�2/$4H �
 �4" 74 �7H- H-$ �2/$4H �4"
C$BM$B M$BC/74C 7' �7H�97H 8=)=R=

7B$7M$B! H-$P N$B$ BL4 /4 H-$
�C9$�H�$B1Q �4" ����� $4M/B74.
3$4HC :74 �7H�97H 8=)=R �4" 8=+=K!
B$C9$�H/M$2P;! �4" �'H$B /4HB7"L�/4,
$4M$279$C �C "$C�B/�$" /4 �$�= I=I :74 �7H- �7H�97H 8=)=R �
C;= �$CL2HC 'B73 �739LH/4,
H-$ �M$B�,$ H/3$ C9$4H H7 BL4 H-$ �$4�-3�B1C �B$ C-7N4 /4 �/,= I=

�-$ B$CL2HC /4"/��H$ H-�H $4M$279$.��C$" N$�M/4, �4" H-$ 
�M� �,$4H 3$4H/74$" /4 �$�= I=+
/397C$ �4 7M$B-$�" 7' E=E < 74 � BL44/4, �992/��H/74= �-$ 7M$B-$�" /C -7N$M$B B$"L�$"
H7 )=K < N-$4 �4 �992/��H/74 CL�0$�H H7 $4M$279$.��C$" N$�M/4, /C BL4 74 H-$ �7H�97H
C$BM$B �
! N-/�- 9$B'7B3C /33$"/�H$ 
	� �739/2�H/74 �4" 37B$ �,,B$CC/M$ /42/4/4,=

�$ �2C7 3$�CLB$" H-$ 7M$B-$�" /397C$" C/392P �P H-$ 9B$C$4�$ 7' 7LB 
�M� �,$4H �P
$O$�LH/4, H-$ ����0M35% �$4�-3�B1C N/H- �4" N/H-7LH H-$ �,$4H 74 H-$ �7H�97H 8=)=R

�
= 	4 �M$B�,$ H-$ $O$�LH/74 N�C C27N$" "7N4 �P 8=F< N-$4 BL4 /4 C$BM$B 37"$ �4"
47H �H �22 N-$4 BL4 /4 �2/$4H 37"$=

	& % (& %.,* +1%. $� (�+�&+$�%��) �/4�22P! N$ N$B$ /4H$B$CH$" /4 H-$ �7CH 7' �HH��-/4,
�"M/�$ H7 07/4 97/4HC= �7 "$H$B3/4$ H-/C �7CH! N$ -�M$ LC$" � CL/H$ 7' 3/�B7.3$�CLB$3$4HC
��
� H-�H 3$�CLB$C H-$ 4L3�$B 7' 79$B�H/74C 7' � �$BH�/4 1/4" H-�H � ,/M$4 $4M/B743$4H
��4 9$B'7B3 9$B C$�74"= �$ -�M$ �992/$" H-$C$ 3$�CLB$3$4HC H7 3$H-7" ��22C8K! �7H-
N/H-7LH �"M/�$ �4" N/H- � :�7L4H$B./4�B$3$4H/4,; �$'7B$ �"M/�$ �HH��-$"= �7B H-$C$ 3$�.

8K�$ �2C7 3$�CLB$" ($2" ,$H 79$B�H/74C= �-$ B$CL2HC N$B$ C/3/2�B H7 3$H-7" ��22C= �-/C /C N-P N$ "7 47H
9B$C$4H H-$3 -$B$=
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�,(��.	 �,(��.��+"5 �+&,� �.��$#&&$ 
1+ �&&#

��## 3 .�&1. ��2 �� K�F: � :R� K�G8 � :R� K�,: � :R� :�%G � :R� K�G% � :R�

��## 3 .� ��2 �� K�%F � :R� J�R. � :R� K�%F � :R� 8�.R � :R� K�GF � :R�

���2$ 8 
/�B7.3$�CLB$3$4H B$CL2HC=

CLB$3$4HC! N$ -�M$ H�1$4 /4H7 ���7L4H �22 $4M/B743$4HC 2/CH$" �H H-$ �$,/44/4, 7' H-/C C$�.
H/74= �22 CPCH$3C "7 47H CL''$B C/,4/(��4H2P 'B73 �"M/C/4, 3$H-7" ��22C! $O�$9H �����!
N-7C$ 9$B'7B3�4�$ "B79 /C "L$ H7 H-$ $O9$4C/M$ �74H$OH CN/H�-$C �H "$�L,,$B �B$�197/4HC
:�'= �$�= +=K;=

- �1$$�+4 �%� �1.1+� �&+"

�-$ 9B$C$4H$" N$�M/4, H$�-4/>L$ B$>L/B$C 2$CC H/3$ �4" 2$CC 3$37BP H-�4 �74M$4H/74�2
�739/2$BC '7B �C9$�H
.2/1$ 2�4,L�,$C= �H H-$ C�3$ H/3$! H-$ /397C$" BL4H/3$ 7M$B-$�"
/C ���$9H��2$= �C � B$CL2H! H-/C H$�-4/>L$ ��4 �$ LC$" �H "$M$2793$4H H/3$ H7 C9$$" L9
H-$ ?�739/2$.H$CH."$�L,@ �P�2$C= �$ -�M$ �2C7 C-7N4 H-�H 7LB �99B7��- ��4 $'(�/$4H2P �$
LC$" /4 BL4H/3$.N$�M/4, $4M/B743$4HC=

�LB �LBB$4H /392$3$4H�H/74 "7$C 47H CL997BH H-$ 'L22 �C9$�H
 2�4,L�,$= �42P H-$ 97/4H�LH
"$C/,4�H7BC ��((! !�;! 6�;! ;#%6! ;�5!�;! �4" @%;#%+ �B$ /392$3$4H$"= �2C7! 742P
���.5� �4" ��;�5 �"M/�$ /C CL997BH$"= �H-$B 97/4H�LH "$C/,4�H7BC! $=,=! #�+�(�5!
�4" �5.>+� �"M/�$ ��4 �$ B$�2/Q$" C/3/2�B2P �4" N/22 �$ CL997BH$" /4 'LHLB$ M$BC/74C 7'
7LB H772= �$ �B$ �2C7 N7B1/4, 74 � M$BC/74 N/H- CH�H/� B$C72LH/74 '7B H-$ @%;#%+ 97/4H�LH
"$C/,4�H7B=

�LB �LBB$4H /392$3$4H�H/74 "7$C 47H @B$3$3�$BC@ H-$ ��HL�2 97C/H/74C 7' 07/4 97/4H C-�".
7NC /4 H-$ C7LB�$ �7"$= �7N$M$B! 147N2$",$ ��7LH ��HL�2 07/4 97/4H C-�"7NC /C 4$$"$"
�P H772C 2/1$ ��2/9C$AC �C9$�H
 �$M$2793$4H �772C :�
��; ��
�� H7 9B$C$4H H-$ �B7CC�LH.
H/4, CHBL�HLB$ H7 H-$ 9B7,B�33$B /4 C9$�/�2 M/$NC= 	4/H/�2 $O9$B/3$4HC! -7N$M$B! C-7N H-�H
H-$ 07/4 97/4H C-�"7N C$�B�- ��4 �$ $O$�LH$" $'(�/$4H2P "LB/4, H-$ HB�4C'7B3�H/74 9-�C$
7' 7LB �99B7��-= �LB/4, H-/C 9-�C$! �22 97H$4H/�2 07/4 97/4H C-�"7NC 7' ($2" ���$CC$C �B$
�2B$�"P M/C/H$"= 	4 H-$ C�3$ N�P! /H /C 97CC/�2$ H7 M/C/H �22 97H$4H/�2 07/4 97/4H C-�"7NC 7'
3$H-7" ��22C �4" 3�H�- �22 C-�"7NC �,�/4CH H-$ "$�2�B$" 97/4H�LHC= �$ 9B7H7HP9/��22P $O.
H$4"$" 7LB H772 N/H- CL�- � 07/4 97/4H C-�"7N C$�B�- �4" 3$�CLB$" H-$ �73/2$ H/3$ '7B H-$
C�$4�B/7C 9B$C$4H$" /4 )=8= 	4 H-$ N7BCH ��C$ H-/C $OH$4C/74 C27NC 7LB H772 "7N4 �P 8R=I<=
�-�H /C 3/CC/4, /C H-$ �74CHBL�H/74 7' �4 �99B79B/�H$ CHBL�HLB$ '7B H-$ 	�� H7 "/C92�P8I=
�C � B$CL2H! � �73�/4$" H772 H-�H LC$C $4M$279$.��C$" N$�M/4, �4" �74M$4H/74�2 CHP2$ 07/4
97/4H C-�"7N C$�B�- N/22 9B7M/"$ �$CH 9$B'7B3�4�$=

	4 H-$ �LBB$4H /392$3$4H�H/74 7' $4M$279$.��C$" N$�M/4, N$ /4HB7"L�$ $4M$279$C '7B �22
3$3�$BC �4" 47H 0LCH '7B H-7C$ H-�H �B$ �''$�H$" �P � 97/4H�LH.�4".�"M/�$= 	4 'LHLB$ B$.
2$�C$C N$ N/22 /4�2L"$ H-/C 79H/3/Q�H/74 N-/�- N/22 B$"L�$ H-$ BL4H/3$ 7M$B-$�"= �=,=!
N-$4 47 �C9$�HC �B$ 9B$C$4H /4 � 9B7,B�3! H-$ �7"$ N/22 47H �$ HB�4C'7B3$" �H �22=

8I�L�- � CHBL�HLB$ ��4 �$ ,$4$B�H$" �P �&�= �7N$M$B! "LB/4, 7LB 3$�CLB$3$4HC H-/C '$�HLB$ N�C "$��H/M�H$"=
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�C "$C�B/�$" /4 �$�H/74C 8 �4" I=I! 7LB N$�M/4, �99B7��- B$2/$C 74 H-$ 
	� �739/2$B H7
79H/3/Q$ �N�P H-$ /4HB7"L�$" /4"/B$�H/74C �P /42/4/4,= 	4 H-$ �74H$OH 7' BL4H/3$ N$�M/4,!
H-$ C�3$ 79H/3/Q�H/74 3/,-H �$�73$ 9B7�2$3�H/�! �C "$927P/4, �4 �C9$�H 47H 742P $4H�/2C
B$�739/2�H/74 7' H-$ �''$�H$" $4M$279$C �LH 7' �22 3$H-7"C N-$B$ $4M$279$C �B$ /42/4$"=
�2C7 H-$ 3$H-7"C N-$B$ $4M$279$C �B$ /42/4$" -�M$ H7 �$ B$3$3�$B$" H7 �$ ��2$ H7 B$�73.
9/2$ H-$3= �$ N/22 /4M$CH/,�H$ H-$ 97CC/�/2/H/$C 7' "$"/��H$" M/BHL�2 3��-/4$ 2$M$2 CL997BH
�4" H$�-4/>L$C 2/1$ ,L�B"$" /42/4/4, ���55�= 	4/H/�2 $O9$B/3$4HC N/H- H-$ 
/1$C �$C$�B�-
�/BHL�2 
��-/4$ �
/1� /4"/��H$ H-�H BL4H/3$ 9$B'7B3�4�$ ��4 �$ /39B7M$" H-/C N�P=

�-$ /4HB7"L�H/74 7' 7LB $4M$279$C �""C 3$H-7"C H7 $��- �2�CC N-/�- �-�4,$C H-$ �2�CCA
3$H�."�H� H-�H /C M/C/�2$ H7 H-$ �992/��H/74 M/� 
�M�AC �$*$�H/74 ��	 �
�M��= 	H /C �2C7 97C.
C/�2$ H-�H H-$ 9B7,B�33$B ���$CC$C ($2"C M/� H-$ �$*$�H/74 ��	! �/B�L3M$4H/4, 7LB ���$C.
C7B 3$H-7"C= �,�/4! �P /392$3$4H/4, �
.2$M$2 CL997BH! H-$ �$-�M/7B 7' H-$ �$*$�H/74
��	 �7L2" �$ �-�4,$" H7 �$ �739�H/�2$ N/H- H-$ $4M$279$ �99B7��-= �/3/2�B2P! H-$ N�P
4�H/M$ 3$H-7"C �B$ HB$�H$" ��4 �$ 37"/($" H7 �227N /4HB7"L�H/74 7' 9B7O/$C '7B H-$3=

����+�%��,

����� �= �M,LCH/47M $H �2= �L/2"/4, H-$ ��� �C9$�H
 �739/2$B N/H- �72P,27H �4" �77H= #;;0�
::���3�.*(��3.A3��3>':�.�>*�+;6:���$=DD $ 30��=

����� �= �M,LCH/47M $H �2= �9H/3/Q/4, �C9$�H
= #;;0�::���3�.*(��3.A3��3>':
�.�>*�+;6:���$=DD $<30��=

���R)� �= �M,LCH/47M $H �2= ��� �4 �OH$4C/�2$ �C9$�H
 �739/2$B= 	4 ����.:�= ��
 �B$CC!
KRR)=

��
�� �C9$�H
 �$M$2793$4H �772C= #;;0�::��(%06�3.5!:�&�;:=

��C9�� �C9$�H
= #;;0�::��(%06�3.5!:�60��;&:=

��C9�� �C9$�H�$B1Q K=R= #;;0�::�60��;@�5'C3�.��#�>63.5!:=

���55� 
= �LB1$ $H �2= �-$ 
�2�9$J47 �P4�3/� �9H/3/Q/4, �739/2$B '7B 
�M�= 	4 ��6� �/�&��
�(&��/�&��! 9�,$C %8&5F! 8555=

����� �PH$ �7"$ �4,/4$$B/4, �/�B�BP :����; 
�4L�2= #;;0�::&�'�5;�3�0��#�3
.5!:���(:*�+>�(3#;*(=

���
�� �= �7�1/C�-! 
= ��L9H! 
= 
$Q/4/! �4" �= �CH$B3�44= �/BHL�2 
��-/4$ �L997BH '7B
�P4�3/� 
7/4 �7/4HC= 	4 ����.:�=

�����R)� �"B/�4 �72P$B! �4"P �2$3$4H! �$7B,$ ��B2$P! �4" 
�HH-$N �$�CH$B= ��$!*0� �0 
*��2�� �0*��2 �/!�&2�� 
/(�/�%%!&� 7!2� �0*��2� �&� 2�� ��$!*0� �0*��2� ��6�$(* 
%�&2 �(($0= �""/C74.�$C2$P! KRR)=

���55� �= �$H2$'C �4" �= �,$C$4= 	42/4/4, 7' �/BHL�2 
$H-7"C= 	4 
/(�- ����
 )'''=
�9B/4,$B! 8555=

��3/R8� 
= �3/HB/$M= �7N�B"C �2$O/�2$ �4" ��'$ �$�-4727,P '7B �L4H/3$ �M72LH/74 7' 
�M�
��4,L�,$ �992/��H/74C= 	4 �(/#0�(* (& �&�!&��/!&� �(%*$�8 ��"��2 �/!�&2�� �90 
2�%0 �(/ �6($52!(&� 
/(����!&�0 +�2 ��
�	� 4::),! KRR8=
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��4M� �4M$279$.��C$" �$�M/4,= #;;0�::@@@36;3%+�.5*�;%'3;>$��5*6;��;3
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